HIGH COURT OF ANDHRA PRADESH :: AMARAVATI

REFERENCE: DIRECT RECRUITMENT NOTIFICIATION No.1/2023-APHCLSC, DATED:30.08.2023

EXAMINATION FOR THE POST OF SENIOR ASSISTANT IN A.P. HIGH COURT LEGAL

SERVICES COMMITTEE.

IMPORTANT INSTRUCTIONS TO THE CANDIDATES:

1.

2.

Answer ALL the questions.

Each guestion carries TWO marks.

. Answer should be on OMR sheet supplied separately.

Return the question paper along with the OMR sheet.

. Read instructions on the OMR sheet carefully.

Only one answer must be given. More than cne answer not permitted.

Duration of examination is 60 minutes.




1. Who among the following founded
the ‘Sulabh” movement and was
popularly known as the “Toilet Man of
India” long before the Swachh Bharat
Mission became popular?

(A) Parameswarn lyyer
(B) Akshay Kumar
(C) Bindewshwar Pathak

(D) Muruganatham Arunachalam
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(A) DSBS 0oHsd
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2. India has many organizations called
as 'Think Tanks' that gather a group of
Inter-disciplinary scholars to perform
research around particular policies or
ideas.

Which of the 'Think Tanks’ given below
focusses on Law and Justice Systems
Reforms?

(A) Foundation for Democratic Reforms
(B) Forum for Free Enterprise

(C) Daksh

(D) Indian Council for Research on
International Economic Relations
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(A) DOBAS HB BRw(E¢38
&80 (Foundation for Democratic
Reforms)

(B) 580 HB (D J0&BIB
(Foundation for Democratic Reforms)

(C) &8, (Daksh)

(D) @OBOHS TS H6 816 esS
R06B) AIS JETWE OBAS)
(Indian Council for Research on
International Economic Relations)

3. Netflix, Amazc_)n Prime, HBO Max,
etc. are ‘OTT’ service providers. What
does the term 'OTT' stand for?

(A) Over the Table
(B) Over the Top

(C) Over the Television

~ (D) Over the Transmitter

3. 38 28 (Netflix), @0z |20
(Amazon Prime), 378 &) 2 8378



(HBO Max), InSBID 'OTT 5D
©OHOT JoPen. 'OTT' @ NS0
BAQ ArDNoH?

(A) 2,58 & Brend (Over the Table)
(B) 2,090 & 3w (Over the Top)

(C) %58 & BoOD2B (Over the
Television)

(D) .58 & €S ) 0B (Over the

Transmitter)

4. The Supreme Court has recently
released a Handbook on “Combating
Gender Stereotypes”. In this handbook
they have identified language that
promotes Gender Stereotypes and
offered alternative words / phrases.

Identify the alternative preferred in the
Handbook for the word ‘Housewife'.

(A) Spouse
(B) Wife
(C) Home maker

(D) Indian woman
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(A) 265 2K 5o

(B) &35

(C) 3 208D (Home maker)
(D) 2T EBCH

5. Which one among the following has
the power to regulate the right of
citizenship in India?

(A) The Union Cabinet
(B) The Parliament
(C) The Supreme Court

(D) The Law Commission

5. 2rESTFOS DSOS ¢ 58D
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(A) S0l doledsdo
(B) >OR00E (Parliament)
Q) K)J[fbogsq.} (Supreme Caqurt)

(D) e X (Law Commission)

6. Permanent hardness of water can be
removed by adding ;

(A) Potassium Permanganate
(B) Chlorine

(C) Bleaching powder

(D) Washing soda



6. Q FR0t50 o0 DE3
B3 5 0TI SOA0ISTD,).

(A) FEFAAN0 DT°083ES
(Potassium Permanganate)

(B) §6 (Chlorine)
Q) @&oﬁ ¢80 (Bleaching powder)
(D) ra0f &Fe (Washing soda)

7. Which of the following take place
when the subject speaks untruth while
being tested by the Polygraph
instrument?

(1) His blood pressure goes up
(2) His pulse quickens
(3) His eyes blink continuously
(4) He sneezes

(A)1 &2

B)3&4 ‘

O1,28&3

(D)2,3&4

7. 3OUTD HOEB0S
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(1) @05 SEFEn
(o Ma V2 Vela)

(2) @¢5 DD (pulse)
J5050 @HB0d

(3) 309 BDYSONL0 ©eH
&' AB0SE0 ™ OO

(4) @5 808"
(A)1 &2
(B)3 &4
O1,28&3
(D)2,3&4

8. Scratching eases itching because

(A) it kills germs

(B) it suppresses the production of
enzymes which cause itching

(C) it removes the outer dust in the
skin

(D) it stimulates certain nerves which
direct the brain to increase the
production of antihistaminic chemicals

8. FFE50 55 B85 SHe00
Do&E0®

(A) RO (S KoHeod
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%518 @SB3IV

(C) A 9805°Q 209¢3 Srd
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(antihistaminic) SrOHETe ted )3
OIS S AT §)
STORD [RBDNOH

9. Consider the following statements
regarding blood pressure:



(1) It is the pressure exerted by
the blood on the walls of any blood
vessel.

(2) It decreases in the arteries as
the distance from the heart increases.

(3) It is lower in the capillaries
than in the arteries.

(4) 1t is usually lower in women
than in men.

Of these, identify the correct ones.
(A)18&4

B)1,2&3

€2 38&4

D)1,2, 3 &4

9. $EFENZ DooHON 8od
D8I HOHFoSodk:

(1) 9O QB B8 Fo
Fever 880 $OR0T a.8A.

2) 5503 oA &rdo DONR
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(4) 20 S0 YO
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DS’ IB S T¢I %800 A.
(A1 &4

(B)1,2& 3

Q2 3&4

D)1,2,3&4

10. Identify the two richest known
sources of edible protein.

(A) meat and eggs
(B) milk and vegetables
(C) soyabean and groundnut

(D) some algae and other micro-
organisms

10. AISAS (73S Ty Bock
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11. Which of the following served as
the headquarters of the French
possessions in India?

(A) Pondicherry
(B) Masulipatnam
(C) Surat

(D) Chandernagore

11. 808 3¢S’ DA erESTFoS D
(RO0S 88 [ roTod (DS
SPOPS@ONOMT DATVOE?

(A) FoBT)H0
(B) 0ArODE) 0



(C) drded
(D) BoSBTFE

12. "In the happiness of his subjects
lies the happiness of the king, in their
wellbeing, his". Which text refers to
this?

(A) Mudrarakshasa
(B) Arthashastra
(C) Manu Smriti
(D) Indica

12. "% DO 850505’ orer
TBwE), e300, 78 FoH IS
@SJBADNY". B StI80
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(A) (T E Q0
(B) @Q3°( N0

(C) DS
(D) 20835

13. Which among the following
temples at Pattadakal is said to be in
the Dravida style of architecture?

(A) Virupaksha temple
(B) Sangamesvara temple
(C) Papanatha temple

(D) Kapolesvara temple

13. ILSBESS'D 80H Broasrerss
O (A 030 3OS’ &0H?

(A) QBT E. BDare> A0
(B) DOKNRF 58 Bare>aHo
(C) FHTD B0
(D) EFSH 38 BroHOo

14. Who was the last Mughal emperor
to sit on the peacock throne?

(A) Muhammad Shah
(B) Ahmad Shah

(C) Alamgir Il

(D) Shall Alam I

14. T DOTFIS0D) )
D0 VDS I ES8 DIK?

(A) S0T08 2r
(B) @728 ar
(C) @0f8 II

(D) sl

15. The first Indian ruler to organize
Haj pilgrimage at the expense of the
state and provide a subsidy to the
pilgrims was

(A) Alauddin Khilji
(B) Feroz Tughlaq
(C) Akbar

(D) Aurangazeb
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(A) @erHBS HO
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16. The Indian National Congress was
founded in the year

(A) 1867
(B) 1885
(C) 1887
(D) 1920

16. 278eb 20D SO
H0S$ 5065 Fr0IDR0B.

(A) 1867
(B) 1885
(C) 1887
(D) 1920

17. Which of the following educational
institutions was established by Annie
Beasant?

(A) Vedanta College, Calcutta
(B) Hindu College, Banaras
(C) Hindu College, Calcutta

(D) Sanskrit College, Calcutta

17. 808 T30S @ D0
T DOV ATTEN0R AE?

(A) S0 Egrare), SiT
(B) a0y vare), 2278
Q) oy Eorare), Soie

(D) DO 7o), i

18. Who among the following
transformed the Sikhs into a warrior
race?

(A) Guru Gobind Singh
(B) Banda Bahadur

(C) Kapur Singh

(D) Ranijit Singh

18. 808 8’ DB DEVOD
e e S0 )S0?

(A) %% Fo& Dok
(B) 20T 237850
(C) 86 oh

(D) 02 doh

19. Which of the following are rabi
crops?

(1) Wheat

(2) Mustard

(3) Barley

(4) Groundnut
W1,283



(B)2,3&4
O1,3&4
(D)2 &3

19. 80& ¢3S’ 38 Hoeren DI?
(1) A0
@) saren

B)2,3&4
O1,3&4
D)2 &3

20. Which of the following diseases are
called ‘Tropical diseases?

(1) Malaria

(2) Leishmaniasis

(3) Dengue

(4) Lymphatic filariasis

Select the correct answer using the
codes below:

(A) 1,2 and 3 only
(B) 1 and 2 only
(C) 1,3 and 4 only
(D) All the above

20. 808 73S’ I3 (erDES
SC0EN’ D NI E?

(1) S8

2) OISR

(3) Bokses

4) P28 BBV
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(A) 1,2 HBA%W 3 S
(B) 1 0835 2 (55D
(C) 1,3 S0B35M 4 S ehadd
(D) 25

21. Andhra Pradesh Government has
taken up many Good Governance
initiatives. Which of the following is the
Public Grievance Redressal
Mechanism?

(A) AP Seva
(B) Spandana
(C) Restructuring of districts

(D) Introduction of Grama
Sachivalayam and Ward Sachivalayams

21. 8O(BINTT (0808 50 0T
LONBFON 585 ESTreD THE0A.
2808 ¢3S HDE (ARS ) BIBIS
520 DE?

(A) AP S
(B) )OS
(C) BU"® YD) T°2€90




(D) [T DQTAHO0 O T
JATOATON [@rEodcso

22. The state of Andhra Pradesh has six
agro-climatic zones. Which of the
districts given below have ben
classified in the scarce rainfall zone?

(1) Guntur
(2) Prakasam
(3) Kurnool
(4) Ananthapuramu
(A)1&3
(By2&3
€3 &4
(D)1,3 &4

22. 80(BHTT TrlRoS’ e

2 §TOD T EIOED (OTEN
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(1) Hrocard
(2) lz°d0
(3) 8&r)ew
(4) @005 S0
(A)1&3
(B)2 &3
©3&4
D)1,3 &4

23. What is the objective of the
programme “YSR Polambadi”?

(A) To provide education to children of
farmers

(B) To prevent child labour in the fields

(C) To educate the farmers so that they
can optimize the use of chemical
inputs

(D) To deploy volunteers to the fields
to educate the children of the farmers

23."YSR oo2&” 585800
0 50 DNe3?

(A) B DOOZ DA
(Dlelnlelnlele)

(B) @“@@G e 5285000
AEE0%0

(C) SFPANAE T DRTIFITRY,
I 55080 Ter ooy
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D38 D 525)08 DSBOOX
FereS'8 HoH%0

24. Directions: Read the following
passage and answer the question that
follows. Answer should be based on
the information given in the passage
only.

"Make in India" is not a mere slogan
but a mission to be accomplished by a
single-minded commitment about new
processes. Some would extol the virtue
of the manufacturing juggernaut. On



the other hand, some would denigrate
it to "old wine in the new bottle”. Some
others would term it as a stellar
marketing and political gimmick.

Which among the following is the
most logical corollary to the above
passage?

(A) "Make in India” programme is
intended to make India manufacturing
hub of the world.

(B) This programme initiated by India’s
present Prime Minister assumes that
this will augment the purchasing
power of the common India, mitigate
poverty and expand the consumer
base for companies.

(C) A relative neglect of the world
economic may not augur well for
“Make in India” initiative.

(D) Make in India is an ambitious
project, but it is one that India
desperately needs to kick start and
sustain its growth momentum with
relentless policy pursuing. It is possible
to make India the power house of
manufacturing sector in the world.

25. Directions: Choose from the
alternatives a word which is nearest in
meaning to the word “Impromptu”.

(A) Off hand

(B) Unimportant
(C) Unreal

(D) Effective

26. Directions: The following sentence
has blank space and four words given
after the sentence. Select whichever
word you consider most appropriate
for the blank space.

An employment advertisement should
the number of vacancies.

(A) provide
(B) declare
(C) contain

(D) specify

27.In order that future generations
may the great diversity of
animal life, it is task of the International
Wildlife Preservation Commission to
prevent endangered species from

becoming

(A) recollect..............tamed

(B) value............... evolved

(C) enjoy............... extinct

(D) anticipate.......... specialized

Directions for question numbers 28
and 29: For each question, you are
provided with the first and last part of
a sentence. The remaining sentence is
broken into four parts labelled (P), (Q),
(R) and (S). You are required to arrange
these parts so as to form a complete
meaningful sentence and then choose
the correct combination.

28. First Part: Every body




(P) attracts every other
(Q) whether big or small
(R) body with the force
(S) in the universe

Last Part:  of gravitation.

(A) PRSQ

(B) QPRS

(C) RSPQ

(D) SQPR

28. First Part: There are people

(P) to be able to say

(Q) not because they enjoy the
book

(R) who read a book

(S) but because they want
Last Part:  that they have read it.
(A) PSQR
(B) RQSP
(C) RSPQ

(D) SQPR

30. Select the option that can be used
as a one-word substitute for the
following phrase:

An animal hat uses two legs for
walking.

(A) Quadruped
(B) Biped

10

(C) Tripod
(D) Hexapod

31. Select the most appropriate
ANTONYM of the word “HAPPINESS".

(A) Care
(B) Misery
(C) Proud
(D) Cruel

32. Select the most appropriate
SYNONYM of the word
‘“BARBAROUS".

(A) Generous
(B) Uncivilized
(C) Helpful

(D) Troublesome

33. Select the most appropriate
ANTONYM of the word “UNIFORM".

(A) Similar
(B) Special
(C) Balanced

(D) Varied

34. Select the INCORRECTLY spelt
word:

(A) recive

(B) immigrant



(C) differ
(D) dispute

35. Select the most appropriate phrasal
verb to fill in the blank.

The tiger the cat to its cave.
(A) carried away

(B) made after

(C) made out

(D) passed away

36. Select the most appropriate idiom
to fill in the blank.

Ram let things

(A) get out of hand
(B) call it a night
(C) a dime a dozen

(D) hang in there

37. Select the most appropriate phrasal
verb to fill in the blank.

He very soon.
(A) come about
(B) came across

(C) come to

(D) came round

38. Select the most appropriate
adjective to fill in the blank.

11

Rain started than it was

expected.
(A) late
(B) lately
(C) later

(D) very late

39. Select the most appropriate verb to
fill in the blank.

The child was
stepmother.

by his

(A) rearing

(B) rear

(C) reared

(D) had reared

40. Select the most appropriate
meaning of the underlined idiom.

I am quite at home with chemistry.
(A) quite comfortable

(B) inside home

(C) very good at

(D) very bad

*hk




ANSWER KEY- A

1. 2. 3. 4. 5.
6. (i 8. 9. 10.
11. 12. 13. 14. 15.
16. 17. 18 19. 20.
21. 22, 23. 24, 25.
26. 27. 28. 29. 30.
31. 32. 33. 34 35
36 37. 38. 39. 40.




